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Section 1 - Paperl-English Language
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1) Select the correct form of the verb from the given
options.
She is shocked because she an accident.

A) has met with
B) did meet with
C) met

D) had met with

Read the following passage and answer the questions
that follow:

Mustard is a condiment made from the seeds of a mustard
plant. The whole, ground, cracked, or bruised mustard
seeds are mixed with water, vinegar, lemon juice, wine, or
other liquids, salt, and often other flavorings and spices,
to create a paste or sauce ranging in color from bright
yellow to dark brown. The taste of mustard ranges from
sweet to spicy. The mustard plant ingredient itself has a
sharp, hot, pungent flavor. The many varieties of prepared
mustards have a wide range of strengths and flavors,
depending on the variety of mustard seed and the
preparation method. The basic taste and "heat" of the
mustard are determined largely by seed type, preparation,
and ingredients.Commonly paired with meats and
cheeses, mustard is also added to sandwiches,
hamburgers, corn dogs, and hot dogs. It is also used as
an ingredient in many dressings, glazes, sauces, soups,
and marinades. As a cream or as individual seeds,
mustard is used as a condiment in the cuisine of India and
Bangladesh, the Mediterranean, northern and
southeastern Europe, Asia, the Americas, and Africa,
making it one of the most popular and widely used spices
and condiments in the world Mustard is most often used
at the table as a condiment on cold meats. It is also used
as an ingredient in mayonnaise, vinaigrette, marinades,
and barbecue sauce. It is also a popular accompaniment
to hot dogs, pretzels, and bratwurst. In the Netherlands
and northern Belgium, it is commonly used to make
mustard soup, which includes mustard, cream, parsley,
garlic, and pieces of salted bacon. Mustard as an
emulsifier can stabilize a mixture of two or more
immiscible liquids, such as oil and water. Added to
Hollandaise sauce, mustard can inhibit curdling. The
amounts of various nutrients in mustard seed are to be
found in the USDA National Nutrient Database. As a
condiment, mustard averages about 5 kcal per teaspoon.
Some of the many vitamins and nutrients found in mustard
seeds are selenium and omega 3 fatty acid.

2) Mustard is most often used at the table as a condiment
on

A
B
C
D

mayonnaise
soups
pickles

cold meats

Pt R i 8 L)

3) Which of thefollowing minerals is found in Mustard?

A) lodine

B) Selenium
C) Fluoride
D) Potassium

4) Mustard as an emulsifier can stabilize which of the
following?

A) Imparts pungent flavour

B) Stabilizes oil and water

C) Curdles Hollandaise sauce
D) Emulsifies oil

5) Mustard is commonly used to make mustard soup in?

A
B
C
D

Africa

Southeastern Europe
Mediterranean
Northern Belgium

— e e

6) The colour of Mustard paste or sauce ranges from

A) bright yellow to dark brown

B) blackish brown to mustard yellow
C) mustard yellow to light brown

D) light yellow to light brown
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7) Fill in the blank with the correct option.

How many are in your school bag?

A) eraser TeChOfWO rld . | n
B) books

C) pencil

D) notebook

8) Choose the most appropriate similar meaning word:

EXTRICATE

A) Disentangle
B) Combine
C) Restrain
D) Connect

9) Find the most appropriate opposite meaning word:
ENORMOUS

A) Soft

B) Tiny

C) Average
D) Weak

10) Select the correct option.

You are nothing but old orthodox man.

o Techofworld.In

C} an
D) a
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Section 2 - Paperl-Education and General Awareness

11) Which of the following policy documents emphasized
the need for change in the following words - “Education in
India stands at crossroads today, neither normal linear

13) Trachoma is an infectious disease which affects the

WtsApp/Call- 8596976190

; gt A) Eyes

expansion nor the existing pace and nature of B) Larynx

improvement can meet the needs of the situation.”? o) E Iy
ars

A) Revised Plan of Action
B) Plan of Action
C) New Education Policy

) Brain

TechoﬂNoHdJHD

D) Education Policy 13) QIERIAI 4R AGINR 6QIF AL Q A @Gl
A) a1y

11) Gaaug 609 916 @ARe &) INAIERER daeeRra B) gl

ZIRGGT Q6 FYQ 6908 - "VIRSER d8I AIF fIavTeq Ol C) ale

62108, 71 ARG 60KIFE AR /1 REAIGR A6 I° IR D) ca

g, 29I9 IGHNRT Yol @RIRS”

A) GRIRAE QIS 2T 2R

) 14) What is the full form of NIEPA?
B) qie 2 a1ge

)

)

C) e ugeaas aRd A) National Industry for Educational Planning and

Administration

B) National Institute of Educational Planning and
Admission

C) National Institute of Entrance Planning and
Administration

D) National Institute of Educational Planning and
Administration

D) wgeaaain and

12) Which of the following commissions stated, “Our
secondary education remains the weakest link in our
educational machinery and needs urgent reforms.”?

A) University Education Commission
B) The Education Commission

C) Secondary Education Commission
D) National Knowledge Commission

14) 9R2IEAEY @ Ad Q1A @4?

A) QYE9IR A8 TR NgERdRIn IF° 9E 2IefFeaas
B) quiaein eadgue 2T Ngeaden qia° e aIedan
C) NIQRIR A9TQYe BT YeIqd QIF° 18 ZRfidesas
D) quiaein eedg4e I Ngeadein QI° 18 2Iedneade

12) Q¢ @fiQag@e AUg &4 QERY FGem 64, "UIK JRINS
QDR QRIS FR 6208 1@ AGYS IR Q6T 9° 926a
ANISER LI LRI |

Techofworld.In

15) Which Article of the Indian Constitution details the role
of the Comptroller and Auditor General of India, his
appointment, oath and conditions of service?

A) gRedd 1geaaq @fiae

B) @ ugeras «faq

C) cacraial 1geads afiag
; A) Article 165

B) Article 187

C) Article 148
D) Article 178

D) quiaqim qene @fae
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15) QIQS1A AFIER 6% JQERI6R AAGR AHETINQ B AT
6R600IN & QAR OIF FYB, 992 G 629Q ARILRIGRR QRS
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A) a1g68% 165
B) 21g6g@ 187
C) aqepe 148
D) 21g6g@ 178
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Section 3 - Paperl-Reasoning
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16) Instruction:

In the following questions mark:

1, if the question can be answered with the help of
statement | alone.

2, if the question can be answered with the help of
statement Il alone.

3, if the question can be answered with the help of both |
and Il

4, if the question can't be answered at all.
How many chocolates do | have?

Statement | : Number of chocolates with me is a prime
number.

Statement Il : | have even number of chocolates.

A) 2
B) 3
C)4
D) 1

16) Geaaiant: IR gg6e
1 520 @0g 93 6a9% (129 | ARIVIER 49 Q8
TRUARAIQT |

2 520 90g, 10 6597 (1294 || A26LIGER J46 Ga6 T2
ARG |

3, 98 9@ | 99° || AL6QICER Y49 289 F2IAR AT |
4, 98 g9Q 299 6269 § GRIAIR AIGe /1 |
6911 AILEE 6960 FERIEMT 2E?

A8QY | : 661l CINER 6U66 CRFKIA PERIERS 8F G121 98
AQQ Y

A2QY I 1 6711 ISR el A°HIQ S6RIENT Q&8I

>

022

- WM

o

17) In a certain code language DEMAND is coded as
MEDDNA. How would HYBRID be written in that code
language?

A) HYBDIR
B) BYHDIR
C) DIRBYH
D) BYHRID

17) 9@ §6a Q6sde aieika DEMAND q Q6sde @6
MEDDNA @@Ian | 638 Ql6e3q @igiea HYBRID @ 59d
ERY6I?

A) HYBDIR
B) BYHDIR
C) DIRBYH
D) BYHRID

18) Instruction: Below mentioned are statements
followed by some conclusions. You have to take the
given statements to be true even if they seem to be at
variance from the commonly known facts. Read all the
conclusions and then decide which of the given
conclusions logically follows from the given statements
disregarding commonly known facts.

Statements:
All the trains are ships.
Some flights are ships.

Conclusions:
1) All the trains are flights.
Il) Some flights are trains.

A) None of the conclusions follow
B) Only | follows

C) Only Il follows

D) Both | and Il follow

Techofworld.In
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18) F6L9IaRT: G6@ GRS A9 08g &8 Fd TRARE |
AINEg FULIRYR| F1BIQ AGY 6a1R AIFRIg 9 AG6 § gl
QARIIGEIER KA FAOIQ G 6QFIARRN | AN Fadg aeg
49 0IU6R G9E Gag, SRR F9d YR 62961 AR
G2/ GRNQ ZRAINR| @R F18%4g O Q6T AFARE K98 |
F8QY: g 697 ER FITIF | 88 ALIFITT Joe FITIF|

= [echofworld.In

) Ag 69% 9P AVINIR |

1) @8 QelFIRle 6998 659 |

A) 6x16d @ GAIAQ 2908 [0g AIF
B) saae | 2G04 @99

C) 62Q% Il 29208 208

D) @@ | 98° || 29408 903

19) Gagan's salary is Rs. 60,000 per month. He spends
85% of it and saves the remaining. His savings is

A) Rs. 9,000
B) Rs. 11,200
C) Rs. 8,400
D) Rs. 10,000

19) SRR FIAg 9@f 60 eFIa G | 69 98 85 % WT
Q98 Ie° PRl LT K61 | PR A8 6208

A) Rs. 9000
B) Rs. 11,200
C) Rs.8400

D) Rs. 10,000

20) Instruction: Below mentioned are statements followed
by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
from the commonly known facts. Read all the conclusions
and then decide which of the given conclusions logically
follows from the given statements disregarding commonly
known facts.

Statements:

All the alphabets are pictures.
All the numbers are pictures.
Some symbols are numbers.
Conclusions:

I) Some alphabets are numbers.
Il) Some pictures are symbols.

IIl) Some pictures are numbers.

A) Only Il and Il follows
B) Only I and Il follows
C) Only Il follows

D) Only I and Il follows

20) P60 4I9R1: 06R GUIAIRYS 18N 087 @8 524 FUAIRE |
21965 TR A2q A9 QIR FIFRIg 9EQ 9E6 & 1@l
ARIREER FEIZRN BAH0IQ 6 6AHIAINAN | AAY FALG ALY
49° QI06Q 798G Gug, FuKIRYR Fad FIQ 6360 ARISEER
41291 924Q ARAFA FQEQI AI8Yg OF R 2QAQE g8 |
F18QY: A9 AF0 JEe 88 1 99 A gEe 857

fFad

) A% 29q 9o Qe |

) @8 83 gow 6208 5%

Ill) @8 83 gbw 6aaa QeI

A) 6ee@ 11 4e° 11l 29208 a3 |
B) eaaqm 19e° Il 29908 @ag |
C) 62a® || 29208 99g |

D) eaaq | 9e° 11 2Q20d 29g |

Techofworld.In
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Section 4 - Paperl-Teaching Aptitude

21) Which of the following options is FALSE with
reference to the aims of education in India as formulated
by Secondary Education Commission in 1952-537?

A) Development of Democratic Citizenship

B) Improvement of Vocational Efficiency

C) Improvement in Adult Female Literacy Rate
D) Development of Education for Leadership

Techofworldin

21) 1952-536@ qkifie dQl @748, 911 999 QQeea dSIa
AN 69562 F67IB FIQ 60Q GAEYEFR B

A) GEGIER FITRERR SR8

)
B) g@ge caeisa aad
C) eoq aga ALes! 21 &
)

D) 6ngq G768 91 GR14

22) The concept of self image and self worth was given by

A) Carl Rogers

B) Edward Thorndike
C) Abraham Maslow
D) Howard Gardner

22) 217 89 6 27 FRIS 2AIRE | &4 gIIe GRgeR ?

A) QR QR saed
B) vwgaig adeia]
C) agem aqsml

D) 621009 QIeqq

23) A Student who is outgoing and very confident and
easily interacts with strangers is called

A
B
C
D

ambivert
introvert
extraordinary
extrovert

— ——

23) @68 Goyiell 94 20de oide afe aossa A4 <l
ERIRABR 1° Y] AT 01 26 QI ?

A) Qe
B) aieden
C) aqrieg
D) o@dist

24) For the improvement of standards of teaching and
research in India, UGC has set up various CAS in different

branches of knowledge in the year 1963. What does CAS
stand for?

A) Centre for Academic Surveillance
B) Central Authority of Science

C) Centre for Advanced Study

D) Committee for Advanced Science

24) QIRGEA YT Ye° JERIAIQ IR GRS Fase YaI(
UGC) 1963 dgi6a RIFQ G6e Gwitsa d99q(CAS) QIae
@ageml 999q (CAS)Q 94 99 @87

A) 6294 9 IRIEEFAR AORIQ
B) caqim 206G 2¢ AIRg

C) 62aq oQq 2IeIQe 6]
D) &6 Tq 2IeNge ARG

Techofworldin

25) Which of the following commissions put emphasis on
'Accelerating the process of Modemization ' as one of the
national objectives of education?

A) Indian Education Commission

B) The Mudaliar Commission

C) The Sadler Commission

D) Secondary Education Commission
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25) G6qI8 TRIQ 698 QAR URRIRGS JIUG QIS

R0QIQ 66960 FAIQ Y@ AL AINEA FoQ IR KEeR?

A) eola §a1 afas
B) cemaiq afige
C) aesma *F88

D) arfie da afiee

26) Read the following statements and choose the
CORRECT option.

(i) Informal Education is a lifelong process in a natural way
for an individual.

(i) Tutoring at home or private tuitions is covered under
the informal mode of education.

A) (i) is FALSE and (ii) is FALSE
B) (i) is TRUE and (ii) is TRUE
C) (i) is TRUE and (ii) is FALSE
D) (i) is FALSE and (ii) is TRUE

26) Q6B Q194 g6Q 999 1e° 0R 88 99Q aagl (i) 696w16d
RT6HTT IR 26FNTFIAS QI 9K 1RV FIgER A

(i) A6QIR IR B¢l FAS SUAR Z6FIIITR FF1 2RIFER IR
Q2 6IRAGRI

A
B

) (Hgm 9e* (iHg

) 9
C)

)

) (g
)0\ aa- (i) OR
N0 9e* (i) is gm
) (

(
(
(
D) (

Ngm a8° (i) O]

27) Kinesthetic learning is also known as

A) Tactile learning
B) Micro learning

C) Hands-off learning
D) Passive learning

Techofworld.In

27) QIREACATR TG Q Akl 2R Al GRIAN?

A) cIen aGer
B) Aipeql maer
C) y9q-aT aaer
D) avide ader

28) According to Edward T. Hall's theory, which of the
following options is FALSE with reference to the
characteristics of high-culture context?

A) The people of this culture work under tight deadlines,
product is more important

B) The people of this culture use strong non-verbal
communication

C) The people of this culture demonstrate robust family
and community bonds

D) The people of this culture give more importance to
relationships than tasks

28) @9 AU AN GF@ AN, eEe §. eaw deie
219QI6Q, FAFRIQ 694 FET AR 216a?

A) 4 g6 I99 EMINFIEE 98 ACIR U6 RYIY AR JIQ
660 /7 @023

B) ¥@ qo @98 6RIRAIe Z2CRe 246AIYe 6QIGICAIS
WGLIR FGaE

C) ¥@ Q9 398 6RIRAIEE G990 JRQIQ I9° AL Qe
gadie @5ed

D) «@ g¢ Q98 eRIGAIEe Q1Y AR AR Q 2R QR
cqRelE

Techofworld.in

29) Which of the following options is INCORRECT with
reference to the development of negative traits in students

due to the long term and insensitive use of corporal
punishments in schools?

A) Fear and anxiety

B) Loss of interest in learning

C) Higher academic performance
D) Social misconduct
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29) QUIRAER IR AR YQ° 2ACARE IR SRR
QG ARG 64l TMENAT FU6Q FRANR AVIQ TR
ALVER FYRIQ 697 FRFT QN 26T

A) @2 9Q° ARG TeCh OfWO rld : I n

B) a10a¢i6a QF 2910
C) a@6a 8196 gade
D) an@e gaeia

30) In order to reach at behaviour modification, the
teacher should

A) not be bothered at all

B) ignore all wrong behaviour

C) check all wrong behaviour

D) encourage the wrong behaviour

30) 21994 90Ree 98Q, J8 8 @ARl AQ ?

A) 2169 530G 6267 QI

B) 2012 on 2100dq 2E6ad Q69
C) 4012 9 2Iadq 921% @R6R
D) @@ 2Ioad AR 9QIEe 9669

TarhnfwwnrlAd In
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Section 5 - Paperll-Odia Language
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31) 'TIF A’ QRS 28l K'€l ?

32) FARYG 699 JAaLs 1@ AN ?

A) 2@
B) a
C) gos

D) aig

33) Q6] QRE VRS QA IF FRIAN | 6QdIGS 495 & gRIa
F688 26 ?

A) Q161 Qo
B) g@ aee
C) @13 Qo9
D) ag qlea

34) 604 69 QY98 QI 995 QeI AYR1S 2eg IR ARG 2
212 gRle @6 GIeiq § 99 628 ?

A) edllea

B) ealda

C) saioge

D) Qg

35) FORYO FRIG 6966 'ARIVTE F9Q FANS 99 ?

A) gale
B) goq

C) gge
D) giene

36) 4R6 MEe QUg @8 921 AN ?

A) aigl
B) a4
C) aml
D) aw

37) 69% 98 QIYA 9 99F ge4a 90 g 9o K6 IRl @
49 QIAN ?

A) a@

B) saicge
C) eqlfe
D) i@

38) FARYS FUQ 676 AAATTY 6AFEREN VIS I9Ta FANS
2lelq 9RIRe ?

>

)4
B) g&
C) aau

)

D:ﬂa

39) 6@16d A°Bl QIOR F6IBE U@ FAIGHER AQ A°H @ FER
9Q A8 QTIQ QUIREN QIRIQ @ F68TE QRIAN ?

A) 914 Qleq
B) agy olee

awene | @Chofworld.In

D) god qioa
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40) FRYE IRGFR FIQ 6996 98 AAAG 61169 G100 62IRE 45) FIRGE Y 6008 ‘AR’ I0a ATILRIS1 88 ?
2
Techofworld.In o o
A) garg B) &g
") el C) oge
C) gge D) Gex
D) gaa

41) BIRYE 99 IR 609 989 ' @ ' 24T 29rIde geL?

A) g
B) gee
C) qa
D) ae

42) 69% 99 62192 1A @ GRIG F6Q VITIQ K8 GRIAI ?

A) G688
B) al
C) Qeaay
D) gal

43) BOIRYE AUQ 6996 ARG’ SIea FAIG 69 ?

A) gee
B) Qi
C) Qu
D) eaiax

44) 'QI0@Q QI0'- QE0R 28 @4 ?

A) QI0 QIrINER @Iy
B) @@ @0 alIn

C) aaa @1

D) Qg® QI
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Section 6 - Paperll-Mathematics
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46) If the cost price of 20 articles is equal to the selling
price of 25 articles, what is the percentage of profit or

percentage of loss made by the merchant by selling those
articles?

A) 20% profit
B) 20% loss
C) 10% profit
D) 25% loss

46) 94 20T AINg1R Q11 258 ARG S99 MY A2 AFNIF 6969

P66 QAN 69T ARG FPY FANIQ MW Fe]l FGQ YBEL
6687

A) 20% QIR

)
B) 20% @&
C) 10% Q@
D) 25% @&

47) A square with a side of 6 m has a circle inscribed in it.
The area between the square and the circle is

A) 36 - Msg.m
B) 36 sq.m
C)9(4 - M) sg.m
D) 9 - 411 sg.m

47) 6 §ioq AGEY 1@ QUG AR Y@ 9] ARG 62IRS |
QDG IG° 9 AR 6ASTR 6268

A) 36 - N g4 Foa
B) 36 ad dica

C) 9(4 - N) ad fica
D) 9 - 4Mn qd figa

48) Which of the following is the correct sequence of the
ratios 1:5,2:3,3:4,5:6 in descending order?

A)5:6>3:4>2:3>1:5
B)3:4>5:6>2:3>1:5

C)2:3>3:4>1:5>5:6
D)3:4>2:3>1:5>5:6

48) GRS AIQ 6968 FIR YA 2RIER 1:5,2:3,3:4,5:
6 AgaIeR OR g¢1?

A)5:6>3:4>2:3>1:5
B) SuassrGa0: 3 i5
C)2:3>3:4>1:5>5:6
D)3:4>2:3>1485:6

49) What is the approximate value of the following
expression?
(16.01)2 + V(64.003) x 12

A) 352
B) 356
C) 604
D) 256

49) @< 9AgRIER 6AISIEAIE Ry @'&?
(16.01)2 + V(64.003) x 12

A) 352
B) 356
C) 604
D) 256

50) If 325 car models have automatic transmission, 216
have power steering and 89 have both, then how many
car models have at least 1 of the features?

n ez Techofworld.In

C) 452
D) 523
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50) 9@ 325 § QIR F16en6R 2601605 GIgfian &8, 216 § 6@
d1gIa G206 28 @ 89 60 AR 2E, 6069 6QERIT K10 FIEGNEE!
26 ar6a 1§ 638y 287

o Techofworld.In
C) 452
D) 523

51)Ifa=3,b=-5 x=6,y=12,z=-8 then6y(z = y) +
3ab is equal to

51)@@a=3,b=-5x=6y=12,z=-8 6060 6y(z +y) +
3ab aqie

A) 103
B) -03
C) a3
D) -103

52) The radius of the base of a cylinder is 20 cm and
height is 40 cm. The surface area of the cylinder is

A) 7500 cm?
B) 7436 cm?
C) 7536 cm?
D) 7326 cm?

52) 631G dRER0 2RIA QYIRS 20 627 8 RSl 40 634 |
dngeQ I 6AGUR 6208

A) 7500 @4l 626
B) 7436 @gl 6adi
C) 7536 Q¢ 624

)

D) 7326 @¢l 646

53) If the sum of two angles is 90°, then they are known
as

A) Vertically Opposite angles
B) Adjacent angles

C) Complementary angles
D) Supplementary angles

53) 4T QEE 6a18l Q 626l 90° £, 6969 649G
QU6 FENLIRAT

A) gRE] QU6R 6@18l @ FaQ1e
B) Gacd ealdl

C) agee 6a18

D) 2@ 6q1dl

54) Two types of Rice powders A and B are manufactured
in a factory by mixing two basic elements. The
compositions of the two basic elements in the Rice
powders A and B are in the ratio 5 : 3 and 1 : 2
respectively. A new food product X is formed by mixing
the two powders A and B in the ratio 4 : 3. What is the ratio
of the composition of the two basic elements in food
product X?

B) 1:2

D)3:4

54) 69T QIQFIFIER PG 671G QUIRIS Fgd aUIR A 9Q°
B Q@ 9910 Q1R 98 A9IQR AU 9IRRgS A 9 BER 9R
60130 QUINIGR g6 QaIgsa 5 3 ¥e° 1 : 2 AGAVER
62102INM1 A ¥e° B g&Q 4 : 3 890Ie6a FIIR 2G4 99 9o

SIQY QYIS X 99F PN SIQY QIR X6Q §R 61AR AAIRIS
fgea agaIe @'61?

»11 | echofworld.In
B)1:2
C)2:1
D)3:4
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55) What is the greatest number that will divide 21, 46 and C) 0.036
66 so as to leave the same remainder in each case?
D)o0.18
»e Techofworld.l
»s Techofworld.In
C)5 58)
D)7
55) 606 927 QY 21, 46 4Q° 66 @ IAIFG FAR 4 YOS
64 960YR 6UGER AR QTR QEQ? P
41
9
A9 "
Y
B)3 \Z-——/
C)s In the given figure, P is the centre of the circle. Radius =
D)7 41 cm and PZ = 9 cm. Find the length of the chord XY.
A) 90 cms
B) 80 cms
56) If 88% of 370 + 24% of 210 - x = 118, then x = C) 60 cms
A) 285 D) 40 cms
B) 528
C) 258 58)
D) 582
56) @@ 3701 88% + 2106 24% - x = 118, GI' 626/ x =
=]
A) 285 41
B) 528 ’

C) 258 . w Y

D) 582 FRIRRSI §6Q, P 6208 989 699 | QYIS = 41 627 6 PZ
=9 6Qf | XY o & 6594 68697

57) The H.C.F. of 1.26,0.72 and 0.18 is A TeCh OfWO rl d . I N

A) 0.06 B) 80 e<#

B) 0.36 C) 60 6af

C) 0.036 ~
D

D) 0.18 ) 40 6QF

57)1.26,0.72 4e° 0.18 Q ©1.Q1.9 620&

A) 0.06
B) 0.36
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59) Find the total surface area of a cylinder whose
diameter is 98 cm and height is 15 cm.

o e Techofworld.In
C) 20812 cm?
D) 21612 cm?

59) 9@ dR€Q @ QUIA 98 6495 B QES! 15 694, QIR 67
ARETY 6AYTR @ QTR KA

A) 18672 62
B) 19712 6qfi?
C) 20812 6afi?
D) 21612 6qi?

60) If A= {John, Peter, Mike} and B ={Jane, Ann, Laura},
then number of elements in A xB is

>

S8 =

0 O D

O

60) 9@ A= {John, Peter, Mike} 8 B ={Jane, Ann, Laura},
6669 A X B 60 QUIQIR A°614l 6288

v Techofworld.In

) 9
C) 4
D) 8
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61) Which among the following statements is the
CORRECT explanation for the term parallels?

A) Parallels connect the north and south pole of the
Earth
B) Parallels are lines of longitude

C) Meridians are also known as parallels
D) Parallels are lines of latitude

61) FORYe 9B fUQ 624 BT AAIBEAL AR
Qo] 2d geKl 998 ?

A) QAIB6RS G210 ARAEAQ B @FE6AQ] SAI9 KRN
B) i@ 60dIg AA16as gRIAN

C) qu@e 6a8IQ Ad QIR 6a GRIAN

D) 2g1rd 6a¢ig 9AI8 6981 GRIAN

62) Who among the following was an Adivasi leader who
led a Tribal Revolt in Jharkhand against the British?

A) Birju Munda

B) Birsa Mandi

C) Birsa Munda

D) Birju Mandi

62) Ggfige ArIg & 968 AIGAIA1 696! g6, O §54 AR
FUY6R KIPHE 6 9 AT FEQI2 Q 6RFR 6RRUEM?

A) ag qa
B) adiand
C)ad qal
D) Qg q18

63) Which among the following options is the best
example of a biotic resource?

A) Precious stones
B) Livestock

C) Rocks

D) Metals

63) GOAge QR 690 JRIRA AYR 6F9 AYFQ d6SIQPR
Q01204 266 ?

A) ag caQ
B) agasne
C) gz

D) aig

64) Which of the following options are the tools used in
Mesolithic age?

A) Neoliths

B) Macroliths
C) Metroliths
D) Microliths

64) FAREE CkIQ A1 IP1R B FI1F JIQ Y6 FRIAE! AT
QAF04 G 6769RGR PR RITER FGIAIRERI?

A) GaRe

B) cusgimel

C) enegimel

D) iegimel

65) Which among the following is a non-renewable but
recyclable natural resource?

A) Forest
B) Fossil fuels
C) Wildlife
D) Metals

65) FIRYe IR 699 99Iea AR PR 26gIy &g
SRR QIS IGER AR AT ?

A) oo TeChOfW0r|d . I n

)
B) q1e1g qae
C) qéngian
)

D) ag
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66) In which of the following layers of the atmosphere 68) FARS FQ 6oa QIaY QIeesn g@‘gagg aBIaeae uedl
does most of the weather phenomena occur? .~ aaRI?
A) Troposphere

seesree | @CHOfworld.In 2
C) Thermosphere B) aigaie
D) lonosphere C) dela
D) aaegead
66) QIGAERA 6R 2AER AR FRAIG AFER 6QYRIQ
Fideina 2 ) : :
69) At which point on the Earth the distance between two
= meridians is minimum?
A) g6QI39Q
B) 6g/@0Q A) Equator
. B) Tropic of Capricorn
C) acaidee ) Trop P
~ C) Poles
D) ai060@aq D) Antarctic circle

67) Which of the following terms refer to a group of islands

69) Q2IR1A 694 AQ6Q Q@G YRR 6eGl AXER 9RTI ARRY
that are similar to each other?
2687
A) Islets ). =
B) Islands ) 8ge 66l
C) Eyot B) aeagi@
D) Archipelago C) 6AQ
D) aRaeng

67) FORYE I 6996 910 9ERa @ AFR 26T JITK A0
QPG AR A6T?

70) Which of the following amendments of the Constitution

of India brought about the reduction of voting age from 21
A) QQERS to 18 years?

B) 1@
A) 60th
C) qaig B) 61st
D) 910 aq@ C) 64th
D) 65th

68) Which of the following states was the first to implement
the Panchayat Raj system in India?

70) Q106 @ ARG @ BIRYES FUQ 684 AEIRIQ F19QIR Q
, Q44 q 21 @ 991 93 18 Qd QGERRYRI?

A) Odisha

B) Rajasthan

) Bihar veor [ @chofworld.In
D) Uttar Pradesh B) 6164

C) B4ea

D) 656¢
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71) Most sophisticated tools were found in which of the

following ages?

aneaimcage 1 €CHOTworld.In

B) Mesolithic Age
C) Paleolithic Age
D) Modern Age

71) 2RPE 0AYE QURAE FIRYS AUR 674 YIER AGEIRI?

A) @eaigI§ el
B) saicaimeq 9o
C) qaasig gel
D) afe 9o

72) Which of the following Articles in the Indian
Constitution prescribes that the state shall provide Free

and Compulsory education for all children below 14 years
of age?

A) Article 43
B) Article 42
C) Article 45
D) Article 44

72) ARIIG6Q 2RI BIRYS AR 694 AGERR QIR 2N 64 14
QF QO @ @ 99d 29I AAS TR ARG AISEI G AGRUY STl
JoIe QUL

A) eag 43
B) eaw 42
C) emst 45
D) e 44

73) Which of the following planets is closest to the Sun?

A) Mercury
B) Venus
C) Earth
D) Mars

73) FORge AR 699 92 U4 A AF0IQ FRFER 2667

A) qu
B) 99
C) gaan
D) qgre

74) According tothe Indian Constitution, what is the
maximum number of members in Lok Sabha who
represent the Union Territories?

A) 18
B) 20
C) 17
D) 19

74) QUOG1E ARG ZIQAIER ERIRARI 60 66 2O AAY
Q°Q QIFY 68Q Q YFGQ @GaNF?

A) 18
B) 20
C) 17
D) 19

75) Which of the following options was Gandhi's first mass
resistance movement against the British rule in India?

A) Non-Cooperation Movement
B) Civil Disobedience Movement
C) The Champaran Satyagraha
D) Salt Satyagraha

75) GORGI6 AUQ 6890 AINIRITA 9IIN 89 9F6aR 2IERIRR

* Techofworld.In

A) 21aL6RIG 2IERINS

B) aGoa 29 2I6R19e
C) o¢ad aauige
D) aed aovige
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76) A police jeep moving with a velocity of 45 km/h is
chasing a thief in another jeep which is moving with a
velocity of 153 km/h. Police fires a bullet with muzzle
velocity of 180 m/s. The velocity with which it will strike the
jeep of the thief is

A) 270 m/s
B) 900 m/s
C) 600 m/s
D) 150 m/s

76) 45 km/h 629 888 62IRg 89 153 km/h 6906 IR
R 99 FYEQ &9l 6919g 6AIPRE | 6aIRg 180 m/s Fead

699 QI @ GF PRIAR | 6UE 6996Q 12! 6310Q FAQ AP
699 Q12| 6208

A) 270 m/s
B) 900 m/s
C) 600 m/s
D) 150 m/s

77) Which of the following is an example of Gram-positive
bacteria?

A) Streptococcus

B) Escherichia

C) Salmonella

D) Stenotrophomonas

77) ANUQ 6946 FIF-IFTR QUIERERIN 9@ FRI20E?

A) 686q6RIad

B) wead@al

C) aireaicanl

D) 686RI6516CrI61IRI

78) Hepatitis-C is an infection caused by

A) Virus
B) Fungi

C) Bacteria
D) Protozoa

78) 629I191054A-C IR 62RYRN 9@ A°G7El |

A) 1eea

B) ae@

C) quieqaal
D) egieeiesi@l

79) Which among the following plants show special
features like short stature, hairy parts, and dark color?

A) Rainforest plants
B) Aquatic plants
C) Desert plants

D) Tundra plants

79) GC0Q 669 080 F6aIT 634FY 66N 6U0R @ ATV,
QYR 2°8 6 IR AF?

A) adiagy ade
B) aoq ade
C) rgedia @@e
D) gg1 @@

Techofworld.In

80) Which among the following microorganisms

produces the immunosuppressant medication known as
Cyclosporin A?

A) Monascus purpureus

B) Trichoderma polysporum
C) Streptococcus

D) Clostridium butyricum
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80) Ggs1IQ 6Qa! RRIe ARERIERIAR A FIFR FIEHIA6IIL

Join Us-

g G21Q @5arg?

A) saipaed adaaa
B) cieeaied afsaiasn
C) sgsqeaiad

D) q8@aa qusaas

81) Na:S04 (ag) + BaClz(aq) — BaSQOa(s) + 2NaCl(aq)
The above reaction is an example of

A) Double Displacement Reaction
B) Decomposition reaction

C) Combination reaction

D) Displacement reaction

81) Na.SO. (aq) + BaCl(ag) — BaSO.(s) + 2NaCl(aq)
(6ATAE (6QELT (6Q0Q¢ ( 6AFANANETE) 6QI0IND)
ANETE) 6RREG)AD YETA 670 IRI0R ITaI?

A) 650 GaI0e 9T
B) zoaee geqal

C) areniee goqal
D) Gaiae gaqa

82) The process by which the structures of organisms that
were originally shaped by natural selection for some other

function, but are co-opted for a current function, is known
as

A) Arborescent
B) Exaptation
C) Acculturation
D) Exemption

82) 694 gR9I AIIFER FINFIAE QSR AILI A 6T6T Iel
Q0Q AR JI98a GI6a A9 dRIA 6RR2IZE, g FRAINARIF
IR 56 QARIRELRAIZIR, OIRIQ @9 GRIAN?

A) 2ZiIcQIteae
B) wgieqae

Techofworld.In

C) aeaeeeas
D) egsas

83) A drop of water of radius 0.0015 mm is falling in air. If
the coefficient of viscosity of air is 2.0 X 10° kg/ms, the

terminal velocity of the drop will be (The density of water
=1.0 x10°kg/m*®and g = 10 m/s?)

A) 1.0x10%m/s

)
B) 2.5 x10*m/s
C)5.0x10*m/s
D)2.0x10*m/s

e

83) 0.0015 mm QYA GFE 99 9 K4l QILER OGF | 9F QI
AR gEIe 2.0 X 105kg/ms 606Q faRdIa 289 649l 629
(6@ @e@ = 1.0 x 10° kg/m*4e° g = 10 m/s?)

A) 1.0x10* m/s
B) 25x10*m/s
C) 50x10“*m/s
D) 2.0x10* m/s

84) The work done by the brakes of a car of mass 2000
kg when its speed is reduced from 20 m/s to 10 m/s is

A) 300 kJ
B) 15 kJ

C) 600 kJ
D) 150 kJ

84) 60606167 2000 628 9gQ 98 U@ FIGR 699 20 M/s @

10 m/sg 214 AN 6069 6U6R6IER 69] FIRl AT QILY
6998

ook Tachofworld.In

)
) 15 kJ
)
)

m

C) 600 kJ
D) 150 kJ
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85) The temperature of two bodies A and B are 87) @ QA9F J86R 560F 29Q6 1@ A9l FF| el A96a
respectively, 727 °C and 327 °C. The ratio of Ha : Hg of

the rates of heat radiated by them is 6% ERIEEQ 20 NQ @F J6%ie @Il 2ISEYR| Uil aQ]

4150 6F 9891 U469 40 J 95 98 AIRaIGe
nes o lechofworld.In

A) 60°
C) 25 - 9 B) 300
D) 125 : 27
) C) 120°
D) 45°

85) 9aF @2 A Q" BQ QRIGI Q296 727 °6Qdege 9e°

327 69869 | G FIQI GFGE 629291 P 2N AU

H.: H, 6208 88) Thermal capacity of 100 g of aluminum (s = 0.2 cal/g
' K) is
A) 05:.03 (Given, One calorie = 4.2 joules)
B) 625: 081
A) 42 JI°C
D) 0125: 027 C) 84 JrC
D) 840 J/°C
86) Penicillium is a genus of which of the following
microbes? 88) 100 g aIgfizana(s = 0.2 cal/g K) Q108 9G] 6268 (9T,
A 9@ QUERIQN = 4.2 gmQ)
A) Fungi
B) Protozoa
A) 42 J/°C
C) Algae —
D) Virus B) 420 J/°C
C) 84 J/°C
p— ” A D) 840 J/°C
86) 60GTNAA 604 FIREFIIR IRIT?
A
) 999 89) In which of the following ways is the decomposition
B) sgiccicaial reaction represented?
C) 21R6a A) AB + CD — AD + BC
D) aimed B) A+ B— AB
C)AB—>A+B
)

D)A+BC—-AC+B
87) A block of mass 5 kg is resting on a smooth surface

At what angle a force of 20 N should act on the body sc;
that it will acquire a kinetic energy of 40 J after moving 4

o 89) 2I0ACE 965l AR 69 AUINER Yadie @QIAI?
A) 60° A) AB +CD — AD + BC
B) 30° B) A+B— AB
C) 120°
G) AR s
D) 45° )AB > A+B

DA+RC L AC+R
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90) In a cell wall, the membranous bridges that

interconnect the neighbouring cells of a plant cell are
known as

s 1 €CHOfWOTI.IN

B) Plasmodesmata
C) Protoplasm
D) Cell Membrane

90) YR 6RI¥ gI91R6 gl FR1 G UL 9@ AR 6RVER
J6QIE1 6V ATe A°YD &N FIFIQ [ QLIAN?

>

) EQIISE

B) qia616e9I0!
)
)

P

6961
61T SR

O

JoinUs-' > f
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Question Paper No:

Answer Key

Download Tech Of World App

53654 85
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1. A 31.C 61.D
2. D 32. C 62. C
3. B 33.C 63. B
4. B 34.D 64. D
5. D 35.D 65.D
6. A 36.B 66. A
7. B 37.D 67.D
8. A 38. B 68. B
9. B 39.D 69. C
10. C 40. A 70. B
11. C 41. A 71. A
12. A 42. C 72. C
13. A 43. C 73. A
14. D 44. B 74. B
15. C 45. C 75. C
16. B 46. B 76. D
17. B 47. C 77. A
18. A 48. A 78. A
19. A 49. A 79. D
20. A 50. C 80. B
21. C 51.B 81. A
22.A 52.C 82. B
23. D 53.C 83. B
24. C 54. A 84. A
25. & S540CH85. B
26. C 56. C 86. A
27. A 57.D 87. A
28. A 58. B 88. C
29. C 59. B 89. C
30. C 60. B 90. B
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